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Enabler of polluters?

From a Science and Engineering perspective
the problem of treating wastewaters is
completely tractable!

E.g., Reverse osmosis could be used to
convert the wastewater to H,O that is
nearly pure in all regards.
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Enabler of polluters?

From a Science and Engineering perspective
the problem of treating wastewaters Is
completely tractable!

E.g., Reverse osmosis could be used to
convert the wastewater to H,O that is
nearly pure in all regards.

What cost Is society willing to bear?
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Recalcitrant P iIs common In nature
Typical WWTP effluents are 80-90% BioAvall P

Not clear If this Is also the case with
Advanced P removal processes

Which design would you employ if you knew
the %BAP ahead of time?
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Which design would you employ If you knew
the %BAP ahead of time?

Plant A: Effluent TP = 100 pg L1, %BAP = 80%
Plant B: Effluent TP = 120 ug L%, %BAP = 20%
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How Is this information used in management?
Our job Is to provide scientific information.

Your job Is to use this information to manage
the resource as best fits the values and
resources of your community!

For example:
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What does this mean for Lake Spokane WQ?
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